Faper / supject Lode: 9ollo/ ECONOMICS: Faper VI - kesear cnh Vi ethoaology.

(3 Hours) [Total Marks: 100]

N.B.: (1) Attempt any five questions, selecting not more than three questions from each
section. |

(2)Answer to both the sections should be the written in the same answer book.
(3) Figures to the right indicate full marks.
(4) Use of simple calculator is allowed.
(5) Graph papers will be supplied on request.
(6) Attach the graph paper inside the answer book.
SECTION-I
1. Attempt any two of the following: - 20
(a) What is research? State the characteristics of scientific research.
(b) Discuss the process of research work.

(¢) Explain the types of research.

2. Attempt any two of the following: - 20
(a) Describe the scales of measurement.
(b) Discuss merits and demerits of sample survey method.

(c) Explain non-probability sampling methods.

3. Attempt any two of the following: - 20
(a) Explain the observation method of primary data collection.
(b) What are the merits and demerits of questionnaire method?

(c) Give a brief report on any case study that you have undertaken.

4. Attempt any two of the following:- 20
(a) Draw less than cumulative frequency curve (Ogive) for the following data: -
Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. Of Students | 10 17 26 30 33 25 12 9
(b) Calculate arithmetic mean and median for the following: -
C.I. . 0-20 20-40 40-60 60-80 80-100
Frequency 10 23 30 26 11

(¢) Calculate coefficient of variation (CV) for the following data.
Age 0-10 10-20 20-30 30-40 40-50
No. of Persons 2 5 7 5 1
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SECTION-II

Attempt any two of the following: -

(a) Calculate Spearman’s Rank Correlation Coefficient for the following data.

X

15

32

25

30

35

20

19

22

27

31

Y

50

70

65

72

90

58

33

57

68

74

(b) Find the Regression Equation of Y on X for the following data.

N =7, X =56,3Y =99, £X? = 476, LY’ = 1427, IXY = 811.

(c) Fit a trend using the four yearly moving average method.

20

Year

2009

2010

2011

2012

2013

2014

2015

2016

2017

2018

(in million tonnes)

Production

43

47

45

46

48

47

47

50

49

48

6. Attempt any two of the following:-

(@) (1) What are the difficulties in the construction of index number?

(2) Shift the base from 2012 to 2016 and recast the index numbers.

Year

2012

2013

2014

2015

2016

2017

2018

Index .

110

130

150

175

180

200

210

(b) Calculate Laspeyre’s Index Numbers for the following data.

Commodity

Base Year

Current Year

Price ( ¥)

Quantity

Price (%)

Quantity

A

5

20

6

25

B

3

25

6

18

C

4

12

5

15

(c) Calculate the Cost of living index number for the following data.
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Commodity

Index

Weight

320

50

300

10

250

8

450

20

m |0 (w

260

12
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7. Attempt any two of the following: - 20
(a) Define hypothesis. Describe various types of hypothesis.

(b) What are the criteria of a good hypothesis?
(c) Explain the following :- (1) Type I and Type II errors.

(ii) Level of significance.
8. Attempt any two of the following: - , 20
(a) Discuss the meaning and significance of a research report.
(b) Elaborate on the structure of a research report.

(c) Explain various types of research report.
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